
-1-1386867-T8-A

* Color code must be specified when ordering.
* 订购时请说明颜色编号

FAMILY CARE
亲悦

SERVICE PARTS PAGE
维修零件图

HALF DOOR, 10mm
半扇门，10mm防爆贴膜玻璃

K-706264T-FM-SHP

1313015
Hinge Assembly
铰链组件

1313001
Half Door Back Cover
版本后盖 

M5×20 Countersunk Head Mechanism Screw
M5×20 不锈钢沉头内六角机制螺钉
1313002
Ouside Fixed Plate
外固定板
1108909
Handle Knob Fixed Screw
M5×10 把手旋钮固定螺钉
1313003
Locking Adjustment Plate
插销板

1313013
Handle Knob
把手旋钮

1313009
Locating Screw Pin Nut
定位螺母

1313010
Spring 
弹簧

1312999-*
Half Door Glass
半门玻璃

1313014
Protected Strip 
保护胶条

1313025
Protected Pad
防撞垫
1313005
Plastic Sleeve
定位塑料套

1313004
Inside Fixed Plate
内固定板

1313008
Locating Screw Pin
定位螺钉销

1313007
Friction Gasket
摩擦片

1312998
Fixed Screw
ST3.5×25 十字不
绣钢圆头自攻

1313001
Half Door Back Cover
版本后盖

1210557
ST3.5×20.5 Self-Tapping Screw
ST3.5×20.5 十字不锈钢沉头自攻螺钉

1124186
M4×12 Mechanism Screw
M4×12 十字不锈钢平头机制螺钉

1102106
Fixed Screw
ST3.7×40 十字不锈
钢平头自攻丝螺钉

1313024
Lock Seat With Wall
靠墙门栓座

Lock Seat Bumper Block
门栓座防撞块

1313012
Lock Seat With Water Diveter
靠挡水条固定座



-2-

FAMILY CARE
亲悦

SERVICE PARTS PAGE
维修零件图

HALF DOOR, 10mm
半扇门，10mm防爆贴膜玻璃

K-706264T-FM-SHP

P/N 零件号 DESCRIPTION 描述 COLOR 颜色
★ 1312999-* Door Glass 800×606mm  （10mm 防爆膜）门玻璃 FM

1313000 Half Door Front Cover  半门外盖 SHP

1313001 Half Door Back Cover  半门内盖 SHP

1313002 Outside Fixed Plate  外固定板 S

1313003 Lock Adjusting Plate  插销板 S

1313004 Inside Fixed Plate  内固定板 S

1313013 Door Knob  门把手 S

1313014 Soft Strip  保护胶条 SHP

1313015 Hinge Assembly  铰链组件 S

1313024 Lock Seat With Wall  靠墙门栓座 S

1313012 Lock Seat With Water Diveter  靠挡水条门栓座 S

▲ 1313026

1313005 Plastic Sleeve  塑料套筒
1313006 Protected Pad  防撞垫
1313025 Protected Pad  防撞垫
1313007 Friction Gasket  摩擦片
1313008 Locating Screw Pin  定位螺钉销
1313009 Locating Screw Pin Nut  定位螺钉销螺母
1313010 Compression Spring  压力弹簧
1203390 M5×20 不锈钢沉头内六角机制螺钉
1124186 KM4×12 十字不锈钢平头机制
1210557 ST3.5×20.5 十字沉头自攻 ( 非尖头 )

1312998 ST3.5×25 十字不绣钢圆头自攻
1108909 PM5×10 十字圆头不锈钢机制
1102106 ST3.7×40 十字不锈钢平头自攻丝螺钉
1150121 ST3.5×40 十字不锈钢盘头自攻丝螺钉
1057064 Hollow Wall Anchor, Nylon  膨胀套
1108217 配件白盒，W5A 纸 300×130×50

1386867-T8-A

Note: Components marked in ▲ can only be ordered in whole pack. When ordering components marked in ★, customers need provide measurement form and 
corresponding product SKU.

注意：带▲标注零件仅可整包订购，带★标注零件订购时需附加测量单和产品SKU号。




